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QUESTION BOOKLET

This question paper contains 170 questions. / 38 YU § 170 I3 2 |
All questions are compulsory. / @sft I3 AR 2 |
One question carries half mark only. / T 94 o T Shaet amen 37 2 |

Maximum Marks : 85 JAferhan 37 : 85
Time : 2 Hours Uy : 2 "ol
1.  Which is the port town of Indus Valley civilization ?

(A) Harappa (B) Ropar (C) Lothal (D) Banawali
&g =Tt T T IO & DI AT AT ?
(A) B (B) U9 (C) e (D) sATEe!

The term ‘Neolithic’ is derived from

(A) Greek word (B) Latin word (C) French word (D) German word
Trnfetforen’ sreg &t St 83
(A) T wecd (B) oifAwecd (C) HAYKH (D) THIKH

Which of the following played the most important part in the Vedic
Economy ?

(A) Cattle breeding (B) Agriculture
(C) Trade and Commerce (D) Fishing and Hunting 550
Ifees srederawen & frmfeRad & @ fopaehl wa mewul yftrenr oft 7 B*
(A) WA (B) $i
(C) SR T iU (D) TI-Tg 3R FreR
Which of the following had a monarchical form of government ?
(A) Kuru (B) Malla (C) Vatsa (D) Assaka
frfafad 4 & foras w1 TS T 91 2
(A) Do (B) Heot (C) aH (D) 3AgTehT
In Vajrayana Buddhism, the spouse of the Buddha/ Bodhisatva was known as
(A) Yogini ~(B) Dakini (C) Tara (D) Matangi
TSI Sig YT H, g /i i qeft shgarrdt oA
(A) = (B) srferft (C) dm@ (D) @t
From which community did Jainism get most of its recruits ?
(A) Mercantile Community (B) Artisans
(C) Cultivators (D) Kshatriyas
form Tger & S 9 1 I5eh ik STTATRN yTw fohu 2
(W) =l EEE B) Rewn (€ FE D) '
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7.  The Queen’s Edict of Ashoka is also known as

(A) Minor Pillar Edict 1 (B) Major Pillar Edict 11

(C) Minor Pillar Edict 11T (D) Major Pillar Edict V

33Nk o TEWHT TSI (B ) I8 it haard o

(A) g o | (B) g&q wwTei@ II

(C) oY wrTerd 111 (D) J&q @ V
8.  The Red Sea route between India and Greece was opened by which empire ?

(A) Greek (B) Egyptian (C) Roman (D) None of these

A 37 1 o T ATl AR 01 foh |THTSS gIRT Sietl T 7 2

(A) Hi (B) fra (C) T (D) T H Ig T&
9.  The most important officers in the Gupta empire were the

(A) Kumaramatyas (B) Amatyas

(C) Mantrin (D) Yuktas

o U H T Hgeyut ARt &

(A) PARMTE  (B) WA (C) =t (D) 3

10. Who among the following allowed the Muslims to preach Islamic faith in
their empire ?

(A) Palas (B)_ Pratiharas ((;% Senas (D) Rashtrakutas
frfoTRaa o & forer 310 TTHTSY H GfeeTvl ohl SEeTTHeh GHTIGST <h! STHII JEH hi 2
(A) I (B) fdr (C) & (D) TEERe

11. Before becoming the emperor, Balban was a deputy of
(A) Iltutmish (B) Raziya
(C) Nasiruddin Mahmud (D) Altunia
TYTE 94 8 qd SoTe fehwieh STefee o 2

(A) seqatam  (B) T (C) iémee qgqg (D) e

12.  What inspired the Marathas to fight against the rulers in Delhi ?
A) Religion (B) Military might(C) Nationalism (D) Patriotism
feeell o wTeen] & fo%g T<TS < 7T Fre13dl i Ui fopan 2
(A) &H (B) d=awfdd  (C) g (D) cRmwfed
13. A new technique of painting, known as ‘Siyahi Qalam’ became fashionable
during the reign of

A) Aurangzeb (B) Shah Jahan (C) Akbar (D) \J ahangir
%Wﬁqéﬂﬁ% ‘ S’ A9 B THT AT oft, fhges wmEE
rafetd g8 ?

(A) TS (B) &Sl (C) 3 (D) STEFR

14. How many incursions did Mahmud of Ghazni made in India ?

LT H HEHg TSt + foha STTshavT foRT 2
(A) 15 (B) 16 (C) 17 (D) 25
e
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15.

16.

17.

18.

19.

20.

21.

22.

In Wh1ch year was the Ryotwari System introduced ?
ATt vt fohd I TRY % 2

(A) 1820 (B) 1825 (C) 1905 (D) 1803
What was the emphasis laid on in all reform movements ?

(A) Religious reforms (B) Social reforms

(C) Both (A) and (B) (D) None of these

vl GURETS! eIl | ford T SR fem i 2

(A) oTfis gar (B) IR UR

(C) (A) 3R (B)gHI (D) 37H & IS &l

The annexation of Awadh by the British took place in which year ?
forfesti gra 3raw =1 faera fope o fopan T 2

(A) 1853 (B) 1854 (C) 1855 (D) 1856
The Indian National Movement upto 1905 was dominated by the
(A) Moderates (B) Extremists

(C) Revolutionaries (D) None of these

1905 e VAR TFH 31Tt B fehaeht s 917
(A) TEURRT (B) TWEURREN  (C) shifdsiEl (D) $H @ whig T8l

On which date did Gandhiji make his famous march to Dandi to break the
salt law ?

(A) February 15, 1930 (B) April 6, 1930 g o

(C) March 12, 1931 (D) March 6, 1930 o
ww?ﬁgﬁ fou Tiefish 3 witig €< A R ferieh @1 TRY 1 2

(A) 15%@Ed, 1930(B) 631, 1930 (C) 120, 1931 (D) 64, 1930

Wavell plan w Emglven in which year ?

CEREIEEIRC ek AR
(A) 1943 (B) 1946 (C) 1945 (D) 1949
Morains and Till are examples of
(A) Argillaceous rocks (B) Aeolian rocks
(C) Glacial sedimentary rocks (D) None of these
Hit (feriie) 3 foet sere &
(A) FiThmd FgHEl (B) dTdig IgHi %
(C) femrh sramrd) =g 3 (D) T 8 &IE TE
Earthquakes are not likely to occur in
(A) Alaska (B) Brazil (C) Mexico (D) New Zealand
Y T 7 3T 3

(A) IAAEHIE  (B) SIAH (C) frﬁ-ﬁqaﬁﬁ (D) =it ®
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23. The aviators of jet aeroplanes often avoid the troposphere and fly above it
because of the presence of

(A) electrically charged layer (B) ozone layer
%2) water layer (D) bumpty air pockets
cllgen-ﬂ I & dTcTeh T11: S90S & §=d & 3R 39 W IS W 8, Fraeh

(A) ﬁgwﬁsﬁwm) INHER  (C) A &R (D) 3IW AT Td

24. Doldrum is a zone of
(A) inter tropical convergence zone (B) inter tropical divergence zone
(C) local winds (D) frontolysis
ferger- T weet fohaemt & 2 2
(A) 3Tt ITehieaef JTireRor &= (B) 3R IWTeh{eaelt ST &
(C) I g (D) 9ramfe™

25. Dolphin and Challanger ocean ridges exist in which ocean ?
(Ag Pacific Ocean(B) Atlantic Ocean (C) Indian Ocean (D) Arctic Ocean

iZh [hH HEERTLH & ?
(A) T=ITd TETETR (B) 3TecATICeh HEETR
(C) fégugmmR (D) 3TTehidsh HETET
26. Falkland ocean current flows along the south-eastern coast of
(A) Asia (B) Europe
(C) Africa (D) South America
iehels HEMENHI 4T fehteh afRro-ge a¢ o a1y w8l & 2
(A) Tfsmn (B) I (C) 3ThiehT (D) cfequr smfeEnt

27.  Which soil is famous for growth of long grasses ?
(A) Chestnut soil (B) Prairie soil (C) Desertsoil (D) Laterite soil
It =T i g o feTe Iig 8 2
(A) SRYT  (B) YT  (C) WEHW (D) A e

28. Out migration of people from Bihar to Punjab is the result of

(A) Poverty (B) Over-population
(C) Political 1nstab111ty (D) All of these
[EEIGRRIER I PEET] .
(A) T T (B) 3Afd SHee &1
(C) T STt 1 (D) A\t
29. The ‘Masais’ mainly rear
(A) Cattle (B) Goats (C) Reindeers (D) Sheep
“UTETE” YE&Id: dTetd
(A) ol (B) wehiwl (QRESIERN (D) ¥
Code No. : C-587/2019/SeriessA 6
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30.

31.

32.

33.

34.

35.

36.

Which of the following sources of energy does not pollute the environment ?

(A) Water (B) Mlneral oil (C) Uranium (D) Coal
Sl ol ARG | § HIH H1 HId TR0 i TG & Hdl ?

(A) S (B) @RS d@  (C) FEm (D) Il
The Cape route provides link between Western Europe and

(A) Africa (B) Far East

(C) North America (D) South America

o9 & afeaHl T 3R % o1 fofeh TgH Lt & |

(A) 3T (B) IR T (C) 3ad s/ (D) gféqor swfe

In which of the following natural regions, subsistence farming is the main
occupation ?

(A) Mediterranean type (B) Steppe type

(C) China type . (D) Monsoon type

fafaRaa o & forg wepaes &t 1, HaTe $iY T =EE g 2 OFD
(A) YHSHTRE YR (B) WU YR =¥
(C) =TT b (D) HMHET TP

The capital of Australia is

(A) Sydney (B) Perth (C) Canberra (D) Melbourne
Fregfora 6t T

(A) Tt (B) 7% (C) s (D) HASH
Which of the following rivers is not fed by the snow field known as ‘Himal’ ?
(A) Ganga (B) Yamuna (C) Gandak (D) Godavari
frfeifitaa § @ & @ 7 femmer s fem &= gra aiftya 78 et 2

(A) T (B) FgT (C) TeH (D) e
Which region is frequently affected by tropical cyclones in India ?

(A) Gujarat coast (B) Coromandal coast

(C) Konkan coast (D) Malabar coast

I T & WA | IWTeh [ CHet TshaTd g SR—aR JHTferd 8ia1 8 2
(A) TSRAdE  (B) ®AHSAde (C) &pude (D) HIAER a2

In India, diluvial forests are found in the

(A) Andamans (B) Sunderbans

(C) Aravallis (D) Southern slopes of the Himalayas

BRI ICIEER RIS IR

(A) FSAA T (B) HetaAH

(C) et o (D) fewrera < eferofll geri |
I A ~ Code No. : C-587/2019/Series-A
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37. Which mountain range stretches from Gujarat in the west to Delhi in the north ?
(A) Aravalli Range (B) Vindhya Range
(C) Satpura Range (D) Kaimur Range
I T yaa oft ufve § TeRrd & I Y foeeft qe heft

(A) wEett goft (B) fasmamft  (C) aﬁg@ﬁévﬁ (D) ShEX 2ioft
38. Kharaghoda is the leading centre of salt industry of

(A) RannofKutch (B) Karnataka (C) Kerala (D) Rajasthan
=1 el oh THeh IENT %1 UM hg 8 2
(A) FWHTW  (B) e (C) A (D) TSI
39. The Agra canal draws water from which river ?
(A) Ganga (B) Yamuna (C) Gandak (D) Son
SR &L Tohdl &l | ST Tgvr kil & 2
(A) T (B) Fg (C) e+ (D) &M
40. Which of the following is not a Kharif crop ?
(A) Barle§ (B) Rice (C) Jowar (D) Sesame
frefaiiad # 9 F € @l %9 181 8 ?
(A) ST (B) =Tae (C) SR (D) fie
41. Bicameral system is a feature of which of the following form of government ?
(A) Parliamentary system (B) Presidential system
(C) Federal system . (D) Unitary system
fomrerTeres sere FHHeiad H § TR < fohe TT&ET o1 &0 & 2
(A) FECH LT (B) A e
(C) wE Faeen (D) UehlcHeh STEAT
42. Objective resolution was moved in Constituent Assembly by
(A) Jawaharlal Nehru (B) K.M. Munshi
(C) Kiran Desai (D) None of these
I T, HﬁﬂTﬁ%“HﬂTﬁ ferdeh I ST 1T T 2
(A) SR 8& (B) .uH. gt
(C) fertor carme (D) ¥ © ig Tl
43. Which language is not mentioned in 8" Schedule of the Indian Constitution ?
(A) Sanskrit (B) Sindhi (C) English (D) Nepali
W1 FfeT <61 8eff gl | i &t wro 82
(A) H&hd (B) fosft (C) 3 (D) uTeft
44. How many subjects are there in Union List ?
e = H TehaH a5 & 2
(A) 51 (B) ol (C) 66 (D) 97
e P
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45.

46.

47.

48.

49.

50.

51.

(D) W o araia ferelt oft ferferes =mermera

Which one of the following is not an element of the state ?

(A) Population  (B) Land (C) Army (D) Government
fretferfiga o | <19 @1 Teh TS o1 vl T8 8 ?

(A) SEE (B) 4™ (C) & (D) TR
Formation of a new state in India is done by the Parliament with

(A) Simple majority (B) Special majority

(C) Without majority (D) None of these

W | 7T T 1 TS G9¢ g o T TR S 2 |

(A) @URUSEAd (B) TR sgAd  (C) foisgAd (D) TH | IS &

Right to privacy comes under which article of the Indian Constitution ?

forran o1 iR wRd wfda @ fora =g % 3idid 3Tmar & ?

(A) 14 (B) 18 (©) 20 (D) 21

Who can restrict the Fundamental Rights of the citizens ?

(A) Parliament (B) Union Cabinet (C) Public (D) None of these
ATTIERT o HifeTeh TR W hiF Ush @I Hehall & 2

(A) 5Hg (B) ¥l hfere (C) S (D) 3T | 3 T8l
Right to property is a

(A) Fundamental right (B) Legal right

(C) Moral right (D) Natural right 010
U I HUHR 3 Th el

(A) T sAfaR (B) Taftre arferepr

(C) e sAferepm (D) WTehldeh fURR

Who held the post of President of India twice ?

(A) S. Radhakrishnan (B) K.R. Narayanan

(C) Neelam Sanjeev Reddy (D) Dr. Rajendra Prasad

YT o TPIFT UG T I &1 ST TaT 2

(A) TH. THUTHIH (B) .3TR. TRIVH

(C) om Tsfia & (D) ST TNig Y91

Attorney General of India has the right to audience in
(A) Session Court

(B) High Court

(C) Supreme Court

(D) any Court of law within the territory of India
WRA o HETIIATG! Sl TS hl SRR &

(A) | =TT H

(B) 3= A H _

(C) =W e o
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https://snowstudy.in



52. Who is the executive head of state in India ?

(A) Prime Minister (B) President
(C) Cabinet Secretary (D) None of these
T H T T HRIBR TG I 8 2

(A) TEHEA (B) TmUfa (C) Hfsecafea (D) 378 9 His &

53. Who is competent to dissolve the Rajya Sabha ?
(A) The President (B) The Vice President
(C) The Prime Minister (D) None of these
s a1 forefed s § 9 wem 2 2

(A) Tt (B) S9-Tgafd  (C) Wl (D) S7H & I e

54. Which of the following is the first woman speaker of Lok Sabha ?
(A) Meira Kumar (B) Vidya Stokes
C) Sushma Swaraj (D) None of these
R At <l YA HigeT A& 2 2

(A) fugarR  (B) foamwiem  (C) gywiwAw (D) I A WIS &

55. Who generally presents the Finance Budget in Indian Parliament ?
(A) RBI Governor (B) Finance Minister
(C) Prime Minister (D) None of these
T FHE | ford S97e HHT=Id: ShiF Sqd ohidl @ 2

(A) RBITet  (B) fomwsh (C) T (D) T @ 1S T&

56. The number of Lok Sabha seats of Goa is
e | AlRaHT Hiel i T &
A) 1 (B) 2 € 3 D) 4
57. Which state had never a lady Chief Minister ?
%‘7% Tamil Nadu (B) Rajasthan  (C) Uttar Pradesh(D) Maharashtra
T | uf} afger g 78 o 2
(A) g (B) ToRAM (C) Syem (D) #eg

58. The Supreme Court of India was set up by the
(A) Constitution (B) Law of Parliament
(C) Presidential order (D) None of these
TRA 1 Fali=l AR fehdeh gRT Temfya feram e 2

(A) gfoum (B) T HMA (C) Ugdld e 3ew (D) T8 & IS e

59. Which ensures grassroot democracy in India ?
(A) Panchayati Raj (B) Inter-State Council
(C) President (D) None of these
W H U AAehad hid Gifead ohidl g ?
(A) I TS (B) IR-TI IR (C) Tmafd (D) T & IS TE

Code No. : C-587/2019/Series-A 10
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60.

61.

62.

63.

64.

6S.

66.

67.

How many times have the President declared National emergency ?

(A) Once (B) Twice (C) Thrice (D) Never
ferat e Trgafa 3 TER STTaTaeRTe wfYd foRan 8 2
(A) Th R (B) TR (C) dHar (D) vt =

The change of position of an object is known as
(A) Velocity (B) Acceleration (C) Displacement (D) None of these
fepeht o hi Terfa # uftad shearan &

(A) o (B) T (C) fazemm (D) 34 ¥ HIg T
The S.I. unit of heat is

(A) Calorie (B) Joule (C) Celsius (D) None of these
T <6l TH.3TTS. 0

(A) S (B) S« (C) Gfcwsd (D) ¥ ¥ g T8

The vibrations of a string are

(A) Longitudinal (B) Transverse (C) Progressive (D) Stationary
Teh TE71 % U 21 &

(A) Fgeed  (B) I (O) W (D) fer

The diaphragms of telephone are made up of

(A) Magnets (B) Soft irons -

(C) Thin sheet of any metal (D) None of these =

STA®IA & STIvM s BId 8 -

(A) Fmh (B) Hg e

(C) ol oft erq <ht werett sfie (D) T8 & HI3 T

The type of radiations emitted by radioactive substances are

(A) a-rays (B) P-rays (C) vy-rays (D) All of these
TgTel GRT IcHfoid fIfehTuT b TR &

(A) a-fFm (B) B-fertur (C) y-Fertm (D) ATy

The interstellar matter is mainly composed of which of the following ?

(A) Oxygen (B) Water (C) Helium (D) Hydrogen
ygEd: = o 9 forgeht ST BT B 2

(A) 3w (B) S (C) ®iferam (D) BTEgISA

Sriharikota, the site for rocket launching in India is in the state of

(A) Kerala (B) Tamil Nadu

(C) Andhra Pradesh (D) Odisha

WA H Uehe T&IIUT o foTT Ta, %ﬁ%f@amr@ﬁ% ?

(A) (B) dffeig  (C) 3THme (D) 3nfesm

e
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68.

Oil or soap film when seen in daylight appears coloured because of

(A) Reflection
(C) Surface energy

(B) Refraction
(D) Interference

T o wehret © et A1 FTe i fhen T fewrdt 3 foreeht s 8
(A) T (B) 3UEdA (C) I8 HAl (D) fcehtoT

69. For safe driving during rain and fog, a driver should use additional
Milky light (B) Bluelight (C) Yellow light (D) Violet light

(
aﬂgaﬁiﬁﬁ%amgﬁ&ﬁ@sﬁﬁ%mwaﬁwﬁwm%qaﬁrﬁaﬁ
(A) SRy (B) My (C) Wenshm™ (D) S e

70. Which of the following is an example of an oxide ore ?
(A) Bauxite (B) Malachite (C) Zincblende (D) Gypsum
frefetfiad @ 9 sI9 @1 ATHETEE S1TEh I ITE1E ?
(A) SigaTEe (B) TAThISS C) Tw=ts (D) fSwm

71. Hydrogen burns with
(A) Smoky flame
(C) Blue flame
gTSSISH STetdl & Y |

(A) 4¢ 9Tt seren(B) e samer

(B) Yellow flame
(D) Pale yellow flame

(C) Hieftsarenm (D) TeTehl dieit SaTel

72. Organic compounds always contain

(A) Carbon (B) Oxygen (C) Hydrogen (D) Nitrogen
hTsi[-eh AR H FHRT BT &
(A) Hreq (B) 3l  (C) ®IEglSA (D) HATELISH

73.  Which glass is used for making lenses and prisms for optical instruments ?
(A) Crooked glass(B) Flint glass (C) Pyrex glass (D) Hard glass
SIehTI3Teh 211 B o AT fISH S o foru fondt shiwr b1 3u=i 2 & 2

(A) @I (B) T®HG HE (C) U S (D) HIXHA

74. Double mode of respiration is found in

(A) Leech (B) Scorpion (C) Snail (D) Earthworm
(A) 5 (B) foeg (C) e (D) g

75. Kangaroo is mostly found in
(A) Australia & Tasmania

(C) S dan&Eg
T ol T &

(B) India and Sri Lanka
(D) None of these

(A) a@%mamﬁmﬁ (B) R o #ficieh d
(C) gemd frad (D) ¥ & IE T
T
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76.

77.

78.

79.

80.

81.

82.

83.

A fat soluble vitamin is
(A) Vltamm C (B) VitaminB (C) Vitamin D (D) None of these
o1 | forersiie

(A) fefimc B) fwefimB () fwefmD (D) 3w @+ 7=

The reservoir of R.B.C is

(A) Spleen (B) Bone-marrow (C) Liver (D) Gall-bladder

R.B.C. =1

(A) =TT (B) fey-w=T (C) Ihd (D) foremer

Pituitary gland is located at the base of

(A) Kidney (B) Liver (C) Brain (D) Pancreas
R FHummREEd g |

(A) 9%  (B) I%d (C) HieTs=h (D) 3r=TE

Which of the following diseases is a viral disease ?

(A) Tuberculosis (B) Elephantiasis

(C) ] apanese Encephalitis (D) None of these

5-4 g 2 ‘ -

(A) aﬁﬁfﬁ (B) @i . b

(C) STt uferherrgfed (D) 0 ° His T&l

Sex chromosome in human male is represented by

ey H o Turgs fopweh g i B § 2

(A) XO (B) XX (©) XY (D) XZ

As output increases, average fixed cost

(A) Increases (B) Falls

(C) Remains constant (D) None of these

ITed g+ W 3Hd R A '

(A) St | (B) wHEM| (C) Feawfii (D) 0@ +E 7=

A situation of large number of firms producing similar goods is termed as

(A) Perfect competition (B) Monopolistic competition

(C) Pure competition (D) Oligopoly

Tz fefa JTa o< o § ®H a9 %] 1 37ATEH hid! 8, HacIl o

(A) ot SR (B) CohTRIBTT e ST

(C) 31 Ufcr=firar (D) 3TCUTIIHR

The best example of capital intensive industry in India is

(A) Textile Industry (B) Steel Industry

©) Tourlsm Industry (D) Spare goods Industry

A | YSfl T8 ITNT 1 39 38T &

(A) FESEN  (B) FEEIEM (C) TRAIEN (D) FRRIEH M
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84. Indian economy is a/an

(A) Capitalist economy (B) Communist economy
(C) Independent economy (D) Mixed economy
A
(A) USfiardt sreieaeen (B) TTRIETE SALTaET
(C) w@da ATTTEAT (D) fufdra stefeawen
85. The goods which people consume more, when their price rises are called
(A) Essential goods (B) Capital goods
(C) Giffin goods (D) _None of these

78 S fTeent i <hiHd g T 3Tfersh SUHIT hid €, hEelldi s
(A) FrmaeEs oeqd (B) Tofimaswge  (C) Fiferswgd (D) o & bis el

86. In a period of inflation and price rise the supply of money

(A) Increases (B) Decreases

(C) Remains the same ~ (D) None of these

HRT-ThIT 3T hiHd Fig i TS | q51 1 YL '

(A) e (B) =t (€) Frrwh (D) ¥ &
87. The first income committee was established in which year ?

T T Gt forg o fea i 8 2

(A) 1947 (B) 1948 (C) 1949 (D) 1950
88. Remedy finance is done by

(A) RBI (B) SBI

(C) NABARD (D) National Development Council

WE BIgd (IT= foa) ferem ST 2

(A) RBIgr@ (B) SBIg

(C) NABARD g/ (D) UFH faerm aftwg gra

89. Which of the following is on the insignia of the RBI ?
A) Lion _ (B) Tiger (C) Panther (D) Elephant
%ﬂ%ﬁ@ﬂ H ¥ i |1 RBI o Sdiieh T & ?

(A) faz (B) = (C) dgam (D) =ref
90. Which is a development expenditure ? o '

A) Grant-in-aid B) Irrigation Expenditure

C) Civil Administration D) Debt Services

S g form =T 2 ? . ’
(A) U8R M (B) RmmE=a  (C) @ A (D) Ko daTd

91. Which is the biggest tax paying sector in India ?
A) Banking Sector B) Transport Sector
C) Industrial Sector D) Agriculture Sector

A § o8 927 HL ICH ST hH AT & 2
(A) SfeTem (B) ufEead  (C) 3fenfih & (D) S &
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92.

93.

94.

9s.

96.

97.

98.

The practice of selling goods in a foreign country at a price below their
domestic selling price is called

(A) Diplomacy (B) Dumping (C) DoublePricing(D) None of these
fogelt <ot ® SRgaTt I 3k =] Ik Ho9 | &9 HFd W S99 T FIgR
FEATAI

(A) Fefa (B) sfdm (C) Tt hma (D) 378 A IS &

Excise duty is levied on

(A) Export of goods

(B) Production of goods outside the country
(C) Sale of goods

(D) Import of goods

ScHlg leeh = il %

(A) T&g3Ti & ffa @ (B) <1 o STET I&G3Ti o IcuTed T
(C) IEg3Ti & fasha ™ (D) 3 o TR W

‘Plan Holiday’ was declared after which five year plan ?

(A) First (B) Second (C) Third (D) Fourth

ore TraeTer JISHT o6 q9=ITq FISHIEhIT BfSd fohaT =T o1 2

(A) o (B) facfta (C) T (D) =¥
‘NIFTY’ is associated with

(A) Consumer Price Index (B) BSE Index @%

(C) NSE Index (D) None of these -

Tt fopae gafea 8 ?

(A) IUNITHI HIHT GIAHTH (B) BSE §a&%

(C) NSE g=hish (D) 0 ° His T&l

Insurance sector in India is regulated by

(A) IRDA (B) SEBI (C) RBI (D) None of these
W § T &1 forgen gru fafia gran & 2

(A) IRDA (B) SEBI (C) RBI (D) T I g &l

Special Drawing Rights were created by
foriy 31ETT 3TfreRr foheeh gRT SATT T 2
(A) IBRD (B) ADB (C) IMF (D) WTO

The Indian Institute of Foreign Trade is located at
(A) New Delhi (B) Hyderabad (C) Mumbai (D) Ahmedabad
AT foesft SR g™

(A) qﬁﬁwﬁ _7 (B)%arm (© s (D) IEHCETE
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99. Sailor : Compass : : ?

(A) Student : Exam (B) Doctor : Stethoscope
(C) Pen: Officer (D) Painter : Artist
e : HHTE ;2
(A) Toremeff : qdten (B) Tafercass : Rar=piv
(C) U9 : TR (D) TR ; FeATHR
100. Which is different from the rest ?
I E =72
(A) HGFED (B) PONML (C) NLKIJI (D) TSRQP

101. In a certain code language ‘GIVE’ is written as ‘VIEG’ and ‘OVER’ is
written as ‘EVRO’. How will ‘DISK’ be written in that same code ?
fepelt ffeard e W1 § “GIVE’ &1 “VIEG’ 3T ‘OVER’ %I ‘EVRO’ @t St
2 | 38 %2 # ‘DISK’ =i fohe yehm foran s 2
(A) SIDK (B) KISD (C) KDSI (D) SIKD

102. Which will come in place of question mark in the number series;
5,11,23,47,95,?
|e it 5, 11, 23,47, 95, 7 | TTeg o TA 9 1 AT ?
(A) 198 (B) 194 (C) 191 (D) 185

103. Missing letters in the letter series
_cb _ca bacb ca bac dis
AR A9 cb ca bacb ca bac dH %l@?f IR E
(A) badddb (B) addbbb (C) bbbddd (D) addddb

104. If every second Saturday and all Sundays are holidays in a 30 days month
beginning on Saturday, then how many working days are there in that month ?
WHER & YW §F a1t 30 fT % ek wig 7 afe vy g wifEm 3wt deem
1 I @l 2, dl 38 71E H fohel sprisr] fead & 2
(A) 20 (B) 21 (C) 22 (D) 23

105. If5x4=15,7x8=49 and 6 x 5 =24, then 8 x 4 is equal to
ARG S x4=15,7x8=49 36 x 5=24, 8 x 4 T 3

(A) 24 (B) 26 (C) 28 (D) 30
106. What is the theme of the 2019 World Asthma Day ?
2019 ferea sreem feam 1 w2 2
(A) Better air better breathing (B) You can control your Asthma
(C) Understanding Asthma (D) Stop for Asthma
T P
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107.

108.

109.

110.

111.

112.

INS Ranjit, which is recently decommissioned by Indian Navy, was built by
which of the following countries ?

(A) Germany  (B) France (C) United States (D) USSR

INS Gfd, 758 &a & ° 9t e & fea fen mn, FrefaRed 5 @ forg <o
g e e 2 ’ .

(A) S (B) % (C) ¥gF T (D) ILHTHIR

The recently published book ‘Game Changer’ is the autobiography of which
of the following cricketers ?

(A) Wagqar Younis (B) Javed Miandad

(C) Shahid Afridi (D) Imran Khan

BT &1 | YehIira &aeh T =i Frefetiaa o § fopm fonshet 1 streashan 8 2
(A) FHRIGE  (B) e firiee (C) wnfeg st (D) 3909 @M

Which country is the current chair of the 2019 G-7 summit ?

(A) France (B) Australia (C) India (D) Chile
2019 -7 T sl IqHE HIS DT AT & 2
(A) wIE (B) 3tiwferm  (C) wRa (D) fereft

Which Indian sportswomen has attained the World No. I position in the
women’s 10 m air rifle event ?

(A) Manu Bhaker (B) Anisa Sayyed
(C) Apurvi Chandela (D) Anjum Moudgil
%&rugﬁaw%w%?r@ﬁuﬁwzﬁaﬁ 10 m TR TEHA ga¢ H fowa 7. [ fafa
g bl 2

(A) T 9T (B) M@ =G (C) i =een (D) 3T9A HiGATA

Which South American nation has recently joined International Solar
Alliance ?

(A) Ecuador (B) Colombia (C) Uruguay (D) Bolivia
1 e ST 3 e & siedig @t @ ge 2
(A) FHISR (B) @RI (C) IFW (D) Setfer

Which Indian personality has been conferred the UAE’s highest civilian
honour ‘Zayed Medal’ recently ?

(A) Shashi Tharoor (B) Narendra Modi

(C) Shahrukh Khan (D) Sania Mirza

fopm wdlle =afad ot 316 & § 9,08, & Tare Arie e SR Aed” °
T fepar T 2

EEE
CE]

@) s ®) TeId () wmeesw (D) e
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113.

114.

115.

116.

117.

118.

119.

Code No. : C-587/2019/Series-A 18

Who has been elected as the new President of World Bank ?

(A) Christopher Kilby (B) Christine Lagarde
(C) David Malpass . (D) Mauricio Macri
forva ofe o T 31%981 o €9 T DI AT TR 2

(A) Trem fFest (B) i aime (C) sfagaremm (D) wifdn fsh

Which country’s Space Agency has successfully dropped an explosive on
asteroid Ryugu to make crater recently ?

(A) China (B) France (C) Japan (D) Germany
fpm <1 1 Al Teen 4 T & °H SaeE §9F o oY e T W
HheTaTgae Toehies TR ?

(A) = (B) W™ (C) MU= (D) S

Which Indian Armed force has recently tied up with CSIR for joint

research ?

(A) Indian Navy (B) Indian Army

(C) Indian Air Force (D) Indian Coast Guard

Eﬂn‘cﬁa g 1 | BT & H 9Yed 3HYH o ol CSIR & 91 Teaed
o

(A) YR (B) WA AT (C) YRR I 81 (D) WA a2 1&Teh

Isaak Hayik, who has become the world’s oldest soccer player, is from
which country ?

(A) Saudi Arabia (B) Iran (C) UAE (D) Israel
ST T5eh, il [Ivel o el HAfYeh 3 ATt PeaTal Ractret o, fra e 6 & 2
(A) TS 3T (B) M (©) I (D) T

RBI has recently tweaked LCR norms to boost liquidity. What does ‘LCR’
stands for ?

RBI A g1 81 H aleIdT 9 o {7t LCR Ak denfird fopu | ‘LCR’ &1 a1
(A) Liquidity Coverage Ratio (B) Liquidity Carbon Ratio

(C) Liquidity Commodity Ratio (D) Liquidity Calculative Ratio

Which of the following banks has recently launched paperless account
opening facility for NRIs ?

(A) ICICI Bank (B) AxisBank (C) IDBIBank (D) HDFC Bank
ﬁﬂ%ﬁgﬁﬁﬁ%&éﬁ@ﬁmﬁﬁNRl%mmw@aﬁﬁgﬁm
TEHE? | | |

(A) ICICIS® (B) Utfmss® (C) IDBIS® (D) HDFC &%

What is the India’s rank in the 2019 World Press Freedom Index (WPFI) ?
2019 g€ 39 thieH 3o (WPFI) T WId o1 T &1 8 ?
(A) 135% (B) 140 (C) 145%

(D) 150t
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120. Amar Paul, who passed away recently, was the legendary folk singer of
which language ?

(A) Odia (B) Tamil ©) Ben§a11 (D) Urdu

I °ied, e &1t €1 | fem ga, fopm v 6 Sl T & 2
(A) 3 (B) et (C) et (D) 35

121. The state tree of H.P. 1s
(A) Sal (B) Teak (C) Deodar (D) Shisham
Ry wTHIE
(A) @ (B) @A (C) &R (D) o=

122. The state game of H.P. is
(A) Volleyball (B) Hockey (C) Kabaddi (D) Kho-kho

R w1 T
(A) dicfieid  (B) @Al (C) wagl (D) @@l
123. Population density of H.P. as per census 2011 is g e
2011 3 FTHTUAT STTER 8.9, 1 e o7 2 -
(A) 109 (B) 116 (©) 121 (D) 123
124. Nalwari fair is celebrated in which district of H.P. ?
(A) Hamirpur (B) Una (C) Solan (D) None of these
TeteTe Hetl 18.9. % fopa et o renfor gt & 2 '
(A) THRR (B) F (C) |eH (D) T8 | IS T8
125. Hathi dhar is located in which district of H.P. ?
(A) Chamba (B) _Kangra (C) Mandi (D) Kullu
el ur fe. 9. o fopw et o fera 2 2 .
(A) =T (B) TSI (C) #et (D) el
126. ‘Chabutra hills’ is located in which district of H.P. ?
(A) Sirmaur Solan (C) Shimla (D) Hamirpur

(B
=eaq feew’ fe.v. o fopa o1 v fdra g 2
(A) foR (B) HreH (C) Tamem (D) BHRY

127. ‘Banganga’ is a tributary of which river in H.P. ?

(A) Yamuna (B) Chenab (C) Beas (D) Satly;

T Ty, ford <t Y wgTEs A B 2

(A) I (B) o (C) =4 (D) &ags
128. ‘Pooh’ sub-division is located in which district of H.P. ?

(A) Lahaul& Spiti (B) Kinnaur (C) Kullu (D) Chamba

g’ 3T fe. 9. o fopm et o fra 8 2
(A) e g & ifd (B) fh=iR (C) %WL (D) =T
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129. Halda festival is celebrated in which district of H.P. ?
(A) Kinnaur (B) Chamba (C) Sirmaur (D) Lahaul & Spiti
gloel AgR 8.9, & fra S d s Sran 2 2

INRESL (B) = (C) T (D) «Tare o Tiifd
130. Dr. Y.S. Parmar belonged to which district of H.P. ?
(A) Sirmaur (B) Solan (C) Shimla (D) Kangra

2. 9.8, 7R 2.9, & frg e 9 gefia 8 2
(A) far (B) HieW (C) famen (D) TSI

131. Who was the first recipient of Pahari Gandhi Baba Kanshi Ram Award in
Pahari Literature ?

(A) Mian Goverdhan Singh (B) Jai Dev Kiran

(C) Suman Rawat (D) Keshav Narayan

URIS! TTfeca T Ugret Meft SITa ShIefitm qRehi o1 YoM JTedehdl hid 2T 2

(A) T mada fg(B) @ fr  (C) g Taa (D) h9re AR

132. Oldest Painting school of H.P. was

(A) Kangra (B) Guler (C) Basholi (D) None of these

fg.51. &1 gag W= feeerat et ot

(A) T (B) TeR (C) wEd (D) 37H € IS &l
133. Which is the largest administrative division of H.P. ?

(A) Shimla (B) Kangra (C) Mandi (D) None of these

f&.51. =1 qag a1 WEieh A8 i A1 8 ?

(A) femren (B) ST (C) = (D) & @ IE el
134. Old name of ‘Baijnath’ was

(A) Trigarta (B) Brahmpur (C) Hindur (D) Kirgram

‘ST T GUHT AT o

(A) P (B) SR ©) fegt (D) ez
135. Who was the founder of Chamba town ?

(A) Meru Varman (B) Lakshman Varman

(C) Sahil Varman (D) None of these

TTET ITET 1 FEATIh i T ?

(A) T% gHT (B) WeHuigHd (C) Wfg@add (D) 398 § hIg g
136. Total number of legislative assembly constituencies in H.P. is

fe.u. ® fagm auw fratem - i $t gen 2

(A) 3 (B) 4 (C) 36

(D) 68
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137.

138.

139.

140.

141.

142.

143.

144.

145.

Who commanded the Mughal forces which subdued Kangra fort in 1620 A.D. ?
(A) Chattar Singh (B) Durga Singh

(C) Nawab Ali Khan (D) Torman

1620 . H SHATST fohet sl 319 37¢fH T ATt TITeT ST 1 Aqcd Tohe femarm 2

(A) =mfeg  (B) qmifag (€) qamwﬁ@rr-r (D) dIH

In which century was the Mandi state founded ?

(A) Sixth (B) Ninth (C) Tenth (D) Fourteenth
HET TS ohl TITOHT fohd ITaTeg) H
(A) T3 (B) i (C) ol (D) g

When Gandhljl visited Shimla for the first time ?
RSt = gl SR e e % 6 2

(A) 1921 (B) 1924 (C) 1927 (D) 1930
Who started the Shivratri fair of Mandi (at Purani Mandi) ?

(A) Bhawani Sen (B) Ajbar Sen 030
(C) Chattar Singh (D) Mian Autar Singh =%

Tt o1 FREut gen (U 7Et °) fopem wmy T 2
(A) WeHi8d  (B) NI (C) IR o (D) T sitaw fog

The total length of Kalka-Shimla rallway line 1s
SHTeTehT - T TeTa - AATE 1 et TS B
(A) 92.5km (B) 96.5 km (C) 103 km (D) 107 km

Suketi fossil park is located in which district of H.P. ?

(A) Mandi (B) Chamba (C) Kinnaur (D) Sirmaur
Siteren 3 fe.5. = fope foret o fevra @ 2

(A) @l (B) =T (C) freiR (D) R

Central Potato Research Institute is located in which district of H.P. ?

(A) Shimla _ (B) Hamirpur ﬁé Mandi (D) Kangra
T STTHIH T 2.9 o fed 2 2 .

(A) Ferere (B) &HRYX (C) wet (D) TSt

anj Ig Vidyut Pari %OJna is in which district of H.P. ?
(A) ullu Chamba (C) Kinnaur (D) Kangra
0. % fopel Rt 88 2 |

(A) W (B) il (C) fereiR (D) TSt

Who wrote the book ‘Lajjo’ ?

gAg Dr. Y.S. Parmar EB% Shanta Kumar

C) Ranzor Singh D) Dev Raj Sharma

e e o) ol 9 |

(A) SI. IR.TH. TER (B) 3ITdT HHAR

(C) IR 8 (D) éarﬁrwﬁ

I ~ Code No. : C-587/2019/Series-A

https://snowstudy.in



Directions : (Q. 146 to 150) : Choose the most appropriate option out of the four

146.

147.

148.

149.

150.

given alternatives (A), (B), (C) and (D) to fill in the blank.

The centralisation of both political and economic powers has been
continuing independence.

(A) from (B) for (C) since (D) by

The judge recommended a severe punishment so that he from

drinking in future.
(A) desisted (B) avoided (C) withdrew (D) recoiled

It has been observed that income widened between urban and rural
areas.

(A) accretion (B) tax (C) disparity (D) deviation
Coins are made in the

(A) mint (B) sm1thy (C) granary (D) arsenal

She was standing laughing a crowd of journalists.

(A) among (B) between (C) in (D) with

Directions (Q. 151 to 155) : Choose the correct meaning of the given

151.

152.

153.

154.

idiom/phrase out of the four alternatives (A), (B), (C) and (D).

To rest on one’s laurels

(A) to depend on one’s fame (B) to be a parasite

(C) to retire from active life (D) to crave for popularity
To meet one half-way

(A) to meet a person on the way

(B) to come to a compromise with one
(C) to half-hearted agreement

(D) to apologize

To have an old head on young shoulders
(A) to have grey hair

(B) to be wise beyond one’s years

(C) abraggart

(D) aperson with too much responsibility
Nigger in the woodpile

(A) to inhabit in forest

(B) aserious disease

(C) an honest person
(D) something that spoils a good thing

155. To have a jaundice eye
(A) to have jaundice (B) to have fever
(C) to be prejudiced (D) to lose colour
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Directions (Q. 156 to 160) : Choose the word out of four alternatives (A), (B),
(C) and (D) which is opposite in meaning to the given word.

156. Feeble

(A) weak (B) robust
157. Ghastl

(A) pleasant (B) frightful
158. Curb

(A) help (B) incite
159. Overt

(A) secret (B) open
160. Deviate

(A) stray (B) conform
e (9. 161 @ 163): @& Ffy fa=ag g |
161. I

(A) T+ 3 (B) 9T+ AW
162. =

(A) =T+ (B) A+
163. 3T

(A) 3 +d: (B) 3N +d
e (3. 164 9 167): 315 w1s¢ AT |
164. (A) <fe (B) <t
165. (A) YA (B) Ty
166. (A) Sruvft (B) Soqufi
167. (A) fafsre (B) fafre
e (3. 168 # 170): Tt w0@ FiHT |
168. =A™=

(A) 5% (B) wgshife
169. 31T

(A) Teged (B) 3=t Wi
170. TSIAH

(A) I==ivE (B) &%

©)
©)
©)
©
©)

(©)

©)

(©)

©
(©)
(©)
©)

©)

©

©

meek
spectral

restrain

copy

abide

T + 3
T+3a

A + d:

EGEiED

gt
fewoft

fordfies

e

et

e

(D) emaciated
(D) horrible
(D) aggravate
(D) divert
(D) change

EEE
CEZ

(D) 9: + A
(D) Ht +3A
(D) 1 + 3

(D) <&

(D) TorgHt
(D) feuuft
(D) fafirs

(D) At vrE
(D) wgsiife
(D) wgsiife
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